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The figures in the margin uiOcateJutt marksfor the questions

1- ^ ^ ^,8=8
^ ' answer/Answer the
Choose the correc

following questions .

(a)

What is opportu"^^

^-^^^emandls
The price elashc V ^ ̂ ̂

iTumOver)



i

( 2 )

f P«Portionate change in
<=hange in Proportionate

the ratio of nrn

^come to change in

detn^dS""^'^

the ratio Of prop ^
™tydeman^^;^ P«e Change inchange m quarrmy a°^'°P°«icriate

(iv) «»m >sfti-a

None of the above

(c) ^ 5^

The consumer surplus ig

(i)

the surplus amount of "^=1
after consumption ^

(ii) ^

the total satisfaction

consumer

24P/230 (O

•VTr--rtt.

( 3 )

(tii) TO ̂
Tf^

the difference between the price
a consumer pays and the price he is
willing to pay

(i^) ^ 'rraSr^ 'S'WS

additional consumption expenditure
on a product over a consumers
expectation

^  C^'W W

Which of the following is not theproperty of an indifference curve?

fi) \ ̂irpPR ^
,  oo downward from left to

jt slopes
right

^ C^pTPil ̂  ̂
It does not touch any axis
^  af^ ̂
It is convex to origin

' ̂  ̂ tlCT
two indifference curves can

intersect each other
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( 4 )

of an indifferent^

ratio of nw

oonaun,^0 twb ̂ eod^^on expenditure on

the feu ^ ̂
of economies of sc^® U tn, .
m  ̂o?v, '•e u

0)

scale?,
^ case
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*!'^'».i°'wmw
2f%i^

"I Prodii^.
(n) 1^ ̂

•^oiin,̂
e

Selling of a firm incmaav
(iii) a(5iAw tfi'PH ^ ®

Advertising costs of a fimj
(iv) >8'TO 'ilSl'S 5RS

None of the above

s

j

( 5 )

(g) aFs^iH
.  . e msivi

aivs0H '1-111-1^ .. • ^

At the point of profit maximization of
a firm,

(i) MC vst^ MR ^
MR is greater than MC

(i^ MR TC ^
MR and TC are same

fiH) MR ''IR' MC 'PIH
MR ahd'MC are equal

.  fiql TR'''"^ fC ^
TR and TC are same

M  ̂ ^
Why is the demand for an input caUed
derived demand?

, «=«««« <«f" *" «4..6

Budget constraint
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I 6 )

'^-economies Of scale

^^ginal nroH,

Answer the foUowina •
each) : ^^«stions

lOUr

each) :
(Mth

3.

'ta500 words

«icroecJ^^ different types *^=1
analysis. of

2+9=11

®oonomic

4.

'^/Or

aR5R ^
Discuss the importance I ̂ '
economics. Explain th Sh
subject matter of economfcs ®"^6e'^^S
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(a) olR'ri'l 1% 7
^ ̂ I is31W
iflvSH Sjf^^jvs ^ I ■

^Ct
U

1

5. (a)

( 7 )

What are the determinants
demand? State the l^w °f demai^^Draw
an individual demand curve imA the
help of an imaginaiy demand schedu .

r5f<im/Or

thi

^ 2+7+1=11
ItiR ft c^nRi

What is meant by price elasticity of J HO Exolain the different types of
clLS^f demand with the

hSp^f diagrams. Write any three of its applications.

><psp,

ft̂+Pti cimi ,,

the different properties of Mention th Explain the
an indifference curve. Expiam
^JuiUbrium conditions of
Jth the help of a buc
indifference curve analysis.

^sfni^/Or

a consumer

a budget line in

(b)

■ isn^

ftSR 6+6=12

ft»n^ <lR°n ̂'1'''' ̂ j of income effect
Explain the ^"""^o^ect With the help
aS substitution en
of suitable diagr

^P/aso
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( 8 )

6.

7.

Discuss the
condition of a Derf"^°i'*^ naximization
with the help of » ^ competitive firm

a diagram.

"^'iW/Or
5|\g ̂

'U'^fCT^S?
1% ;,^ ''5 % W

ia the short-run^ ̂  ' 3+8=^

the help

Cntically explain

"^Wr/Or t-
(b) 2W 5i%h «»Rs ^

^ I afepnf^isi^ aJ^

Explain the factors that ajfe ' t+7
demand. Explain how the eo^. 'abo
wage rate is determined in a c^'V,^""
labour market. ^ati^
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